a/d>5.5 - a/d<b.5

()

a/d
a/d>5.5

(reinforcement)
(steel concrete)
(steel-framed concrete)

steel concrete - reinforced concrete

(prestress)
(prestressed concrete)



cm cm N/mm?2

Fhkk oy 10%

0.509x 1073 0.102mm 188 N

390 387.1 2

Fhkhk oy 10%

6-D2= p=

0.657x 107 129N/mm? 196 N/mm?
300mm 650mm
3
295 N/mm?2
pf M ¢
M, =bd?. pf, (1-—= u_ = g(l-——
) P ¢ 1.7fc) bd?f, A 1.7)
o . D22, D25, D29
D 1.19 4D25 1.04
p=% A, =bd- p=300-650(0.010 0.012) =1950 2340mm?
D22, D25, D29
2320 2030

-001190 4-D25= p=

= =0.01041
300- 650

~ 300-650

0.657



D

(o 1.19 )

M, =bd?. pf (1- py )— 0.1268x10°mm’ - 3.511N / mm? (1— —— M)_ 0.414x10° N - mm?

bd* = 300-650° = 0

1268x10°mm°®  pf, =0.0119-295=3.511N / mm’

414KN - m
17 30N/m —
. f,
bd?f. = 300- 6507 - 30 = 3.803x10° N - mm = 3.803MN - m = F; 335;1 ~0.1170
b";";f s go(l—%) - 0117002 1170) = 01090 M, =bd?f x0.1090= 30803MN - mx 0.1090=0.414MN - m
D25(p 1.04 )
bd* =300-650” =126.8x10°mm®  pf, = 0.01041.295=3.07IN / mm’
M, =bd?- - 126.8x10°mm® - 3.071N / mm? (1— —— . M) 366x10°N -mm?  366kN -m
17 30N/mm’ —_—
. f
bd?f, =300.650%-30 = 3.803x10° N - mm = 3.803MN - m 0= pf— - 3'%011 ~01024 (
b(';/';f - go(l—%) - 0.102401-2 l024) = 00962 M, =bd?f x0.0962= 3.803MN-mx0.0962=0.3414 MN -m

c

(

)

)



Si M:108, k:103 2570000N - mm= 2.57kN - m,

G =9.80665=10 100kN = 1tf , IMN = 100tf ,
30N/ mm? = 300kgf / cm?,
100kN = 1tf , - 10kN = 1tf
shear failure = , slender beam= , over-reinforcement =
web yield u ultimate d design
SD295, SD345 SD295 fy=295 N/mm?2
SD295 SD345 SD345
SD295 SD345 - SD295 SD345 Es=200 kN/mm?2




